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Note: The initial conditions for C and L are zero.
C=1F L =250 mH

a) Write the Laplace transform Ig(s) of ig(?).

b) Write the Laplace transform Vo(s) of vo(¢). Write your answer as a ratio of
' polynomials in s with numerical coefficients.

¢) Write a numerical time-domain expression for vy(f) where ¢ = 0.
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b) Since witlal conditions are =zero, we
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s(s) = 1o - z50m /| .S
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s+l S(250m) + §" 8
= 1o , /4 L4
S+l {Y/4 + | 4
V,(8)= _los
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¢)  v.(t)= LTIV, ()3
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= (A+B) s> + B4c)s + wA+C
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Matching coefficients of poweErs of S,
we hAqte
AtB =0, Btl=/l0, #A+C =0
A=~-B => -A+C-/0 4A+C =0
=0 +A > 4A+(I0+A) =0
5A+[0=0



o V(is)= =2 + 25+ 8

S+ 1 8%+ 22
V¢CS) = - 2 - 2 3 + 4. 2
vy $e? 52422

v (’é) = [—. zé"-&' + 2 CGSCZ'E) + 4 sin (2‘6)] u&) v




